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1 litre = 1000 millilitres						Milli- means ‘thousandth’
1 litre = 100 centilitres     (so 10 ml = 1 cl)			Centi- means ‘hundredth’

Capacity is a measure of 3D space a container can hold   (ml, cl, l)
Volume is a measure of 3D space occupied by an object   (mm3, cm3, m3, km3) 

A volume of 1 cm3 is equivalent to a capacity of 1 millilitre
A volume of 1000 cm3 is equivalent to a capacity of 1 litre

7 litres is the same as ____ millilitres
3.6 litres is the same as ____ millilitres
8000 millilitres is the same as ____ litres
4230 millilitres is the same as ____ litres

7 litres is the same as ____ centilitres
5.6 litres is the same as ____ centilitres
800 centilitres is the same as ____ litres
5720 centilitres is the same as ____ litres

4 centilitres is the same as ____ millilitres
1.5 centilitres is the same as ____ millilitres 
70 millilitres is the same as ____ centilitres
260 millilitres is the same as ____ centilitres

190 centilitres is the same as ________________
280 centilitres is the same as ________________
50 centilitres is the same as ________________
6200 centilitres is the same as ________________

5 litres is the same as ________________
50 litres is the same as ________________
5.2 litres is the same as ________________
0.5 litres is the same as ________________

Now find another way to complete the last eight sentences.  And another.
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